Cirde O is certered ot ¢3,1)
with radiys 4, Circle P is |
centered aF (h4) and has radiy s

n.If crcle O s eererna)){ hnﬂen‘f
to circle P ,then what s the valye
of Nn® (Hintidraw,use clierance*,)

for mula,
Y wh Jhe following is the
mh;o?ejri cTSFOIuHon sef gf the system:
A= ZC’xjj) 1 ‘X‘"‘“-fjl 22.5} and
B= {00y)i y= Xt 5§
Ay F¢55% (B 8§ (© 1¢%,-3%
O DE, 3N EYIED, 4,30

Triﬂoneme'fr}c Functions
Peviodic'r}y ‘
Inverse Trigeno medri ¢ Tunctions

The SMP)\’ of y=&F&R) s shown,,
FOO 1S Periodj‘:c.a C\/c\es are p'eruwac},
What is  $(89)=7¢ h =2

2 (B) ~i
; — i~ () O
"3 . % (D) ’

— (BE) 2
Y 369() has Per}odT
whet s the Per)od of 3(Ax+B)f

Delermine the am]DJHude, Per;‘ od,
and phase shift of
(L +2L)+]

'Y= ~258ih

=SINATX
17

. ~

what are the coord inates of point Pt
Write the egquation for the 8mph

below: |

(HinF COSING wea)

ASIS’ increases from, '-L% +
the value of YcosH®

(A) inoreases ,then decregses

() decreases, then increaseS

€Y decreases +hnou3}>0u+

(D) increases throughout

(E) decreses, increases then decreqses

FX)= T3 cos X+8in X has an

5r

l{_

qmjvli‘lude of
(K .37 (O (E)3.%
(B)). 73 (DYAT3

(HinT | use Smpbihg calculator)

|89 T 02 x¢Va , what is

the maximum value of the Rinchon,
J—C‘X):S}n%}'%?
(Hint" ibs net 1)

@D y=8in (Mx+N)

Py

what 18 N

Evaluate, -h:m"%r in c)egrecs
and sin™ (0.8759) in radians
@3) Evalugle fan™ (Yan 123°)

(A -12%° () 52°  (E)none of
(B-52° (D)]ag° these

@ Find the number of radians
1 cot” (-5, 2B

(A) =10.30 (@)-1.38  (E)nhoneet

(8) -530 (D)-0.19 these

(Hint  cot™ (-5.243)=& Find &.
cobe= -5:2418

(55) If 2L<co<am and secO=T,
then tan© =

(A) -3.93 (C) 026
(B)~3.87 (D)3.87
(Hint: Be careful of the guadrarﬁ‘)

@6) What is a solution of 00?3%2”%:{,?‘
() 0° B S5 () cos'(T)

(E>393

wwsPH/

(D) cos' (L) (&) Feos™ (F) N



Which of fhe FO)]ow)ng Is cére)

true?
I.sin7 | +sin"(-1)=0
I.cos? |+ cos™t (-1)=0

T .cos? X = cos™ (-5 for all x
in the domain of COS_I

A) 0“’3 AL ds)) ohlj T and IL
(&) only L (E)gnly T and I
(o)) on\g L

(T) when is cos? (cost)= 17
(i) V\’hen 19 'f:cm Htrn" Z): 7 ’f

without us]hﬁ a 8mphin9 cq)cu)cﬂﬂr)
sketch \/:—38‘pn_ﬁf®‘x-§h+5

7N
\.\r
I_/el-e Cycle of he 8?‘61]0)') 01C
s showrn., What are the

coordinates of the Pﬂin)—
lue of Y

Oone oompi
y = -COSK i

x and Y .
of which The maximum Va

occurs T
@ T8 FOO=SIn (arctan, X)  and
gl = tan (arcsin XY , and

0¢ x4 Y2, then $(g(+6))=

@ If o< ng%— and cos(cosn)=(0,¥

'b]')ei’\ 'tqn h=
(A 0.65  (B)4I5 (€033 M LIT E®1L.22

T+ csc© =3F ,then where defined,
cos©=
)J -9t

(A 3t
®)J]-3t* «)_3t
J|-a3t*>

SC‘X) = A gin(Pxt+ CY+D
AR,CD are constants . IF 80}()
s 4o be allered in such ¢ way

Jiude

4hat both s per)od and am
are increased , which of the )Iow}rg

3t

(B)
Ji-g¢

must  be MEQ_SE_C_J_?

(A Al onlﬂ (DY IA) and B Gn\}B
®) B OnL\j (B) C and Don)(j
(c) C on}ﬂ ' )

@R 1f sin x=m ond O< x<90°,
then tanx =

2 2
W © Mt () m
"—“r__—- m

IF the ratio of secw to c¢seX
s 15h then the rgbio of +tanx

(my o3 @) e5TT (80866 to cot x 15 -
(30.35%  (1)07707 A 516 @ Rl (B3]
If  sinlarcsin®)= ﬂ% ,then (B) Ji4 (D) 43
what is the value of «T j varies cl;recﬂy as the square
CPOJ-?F el -‘g‘— (E) 203 ?_SF . When yz;l,B Dfx:,od.s, |
e OE 7 IF = 80, then % could eque
i 7 't (k) -2dZ  (¢) -0 (&)~
N\ " The graph of y=Fe0| (B)-g  (D)-l¢
’g ; _{? s Shown at left | (Hint 37—]«%1)
‘—E ,h[ a2 which could be o .
' ;o Aruel It @-ane—'\?:'% then which of
: ; the following could be the value of
Cﬁ)iﬂ%)-* tan (xR (DY FE0= ccrt(xﬂ-%) © ih radidh measure?
(B Fo0O= Cot(x-—%.) (B)$(R) = tqn,(wr%) ((Pg)‘) (;;?;3;5 M) L512
©) $60= tan(x+L) () 1:§0L} e e PSAAA




Flomewonk, (@

(S3/7)  1Mam LEvG] o Tf‘&i))

Tr;g IDs, UnitCircle ,Guqdr‘aﬂf‘,Riﬁ)ﬁ" Tr}qna)e,s

(35 tanAcosk _

SinX
. =
(A 3ams ) | C&)-tanX
CG)EBJSI—?? (D) cos™ X

@ Cé‘;( — (5]”94) (.'tQﬂ‘X.) =
ytanx  (ED8in*X
(D Dcos™ X

(A) cos X
(B)sinX

@) tanx—sinxcosx. -
tanx

) tanx+ |
(D) cos?x

(AY 1~ ceS E)sin?X

@) 1-SinX
FAE =
® 123 - (8os%) <'—;_2,_. cosg()

CAY SINZK
@) 12J3 $in"X
€e) 12J3 - 1273 CosX

D) 1233 cos¥X
(&) )23 — —'—C’_—? CosX

& I+ cos2A = ICEE then CcoS™A -sSirtA

(A 048 (BYO3T (a7t W36

(&>2,7)
X is in Ciuqdmni-&
£an (x-30°) =cob¥X , Solve for X
@ s5inS +3iIn® ~SinG cos? ©=
(A O C) e (B) 2sin®’©
(B) sing (D) 2snG
Sin2A =% . Then m=
1 @ © 2 ()3 &
If cosXsinX =O.22,'B’7€n (_(‘os%-—-sinrx)"":
MO AN (© 014 (D056 (&1.00
sec” x| =

(A) Slnxcos®  (c)0sX  (B) tan™x
(8D sec?K 0D Sin?x

@ The polar equation rsin@=/ graphs

A qa line  an ellipse  (&)g hyperbdd
(B) a circle ™) a Parqubo)q P

L

' @ T cos3EA find the value

of  cosdk® in Terms of Z
@3 Tf gecA =cscB,then

(A) A= ) B=90°+A CED AtB=I180"
(8)A=90°+B (D) A+8=90°
@& For all G,

gih @ +8in(e+1) +3in (AT =
(R) =81N® () 280 (B) 2sinQ+cosE
() sin® D 3s5inG
(5) what's the range of
)= =3~ 2Sin (%) T
For 0=« &0 ,where 1S

+an¥ ’ >

(B If o4 xeam and sinx<o,
which of the following  mast be

Huel
T, CosK<O

I,0s6xX <0
. |sinx+cosx| >0

(AT only I only
(ROIL o-n)\{j ) I and IL

s'ine=—z’*cos@

(E) T and J0

and 00 < -Z%

2
Find the valug of Lsin® n
termg of 2

If %20 and arcsinx = c;.r'ccos(lx)
then X =

(A)0.566 €€)0.500 (E)¢.2045
(810,747 DG4}
l=cosH0® =
2
(A) cog220” (€D tan2e® & tan*80°
(B) sin®20° (D) cos 80°




@ Te—e==0 , Q= XC0SQ, b= Xsin&

then Ja*+b* =
A | @)9(] (B %cos® 8InG
(B X (D) XCcos® +5in®)

Tf cosax% =sinX ,and x is n radians,

which is q Possilo)e, Valye of %7,
(M) 039 e 1.05  (©) 2,09
@3 1f o< X¢L and fanx =%, then
QoS X =
A = ) == (& -
2Tt Car O g
(B) ~2— —
5> NQ? - CD)\;Q“’”‘IL
D @ Given 05O ~ %

. _find sin2€
Tt ¢ & ,j'Fmol in

b) Given, @ is in the hird clucrdr’clm‘,
and cos©=~t (where t>0)
find s

IF sinloc® =2, exPreSS 5jh200°
in ferms of #
T+ G s an acule Cmg)&: for whk}b

tan’® = Gtan®©-9 , what is the
degree megsure of ©F

(ABL3 @) 7L (&)E3D
(8D 60.0 (D) 79.7
@ What is the y - ¢0o rdinate,  of the

point ot which the- gvaph of
y=2sinx-cosax Infersects the

8-ccxisf
M2 (O (B2
(B) -! D) |}

SoNe 28I X F+CoSAR =280 (|
POor Qsx22TT
@ A)Sebmica!lg_
() check the answer with @
g raphing calculator
Find values of x on Hhe
interval To, ] for which

COS K D>8ThAX

For what valugSof X,

TS 9<<34=£C- 5 15 SINK < cosK T

Given, sec@=-3 and

T, 2 &< 375/3 R
find tan®

1§ Z<x< Ty, and

sih?x =q,

cos? X =b o

thep SIhax FcosX=
A 200k 4+ b~
(B)-2{ab+ b-a

) aJqp *2a -l
(D) GG ~2b+]

(&) Rab+2a—|

-kH:\nIt& These are Prqd‘ice prob)-ems

about
ADs #v5 , TVI3 26
Tr*ig. function, M~I17
Tr}ang)es 18,19, 23

Quadrant/ Tr]qna]e 24,25,31,32

Sol Ving 26~ 30




> Homework

fart . Practice the

? 3L 3m M
3F'31 3r
W 3s 3t 3u

(NBA (B6A (Ih (D2TA (EDZTA

For évery Pa'pr C‘X:J) in the redangu)qr
coordinale, plane » §:0xy) > (X, =8+ 3y).
what's the Set of po‘m‘}'s for
:0xyd 2 LA YT
(A The point &4,0)

8) The point (4,12 .
(¢) Set o)?c s (%2 +that thsFy

the equation x='t ‘
) The %@?‘ of Poini'sf C'X,y) et Scr’nsf)(
+he equation ){:49(
&) The et of po‘)rﬁs Xy e Scrhsf y
the equation y=3x

@ 3f :A7+hem

L wm
P9
s t

# '/ »Geomerry

v Part T. Tyo +he, examoles in Handout, Lesson #7

Prob}ems here

&) Given the {"ol)owing dgta,
which can form 4wo %iang!é&?

T, .0=30%c=8, b=12

L. [B=%5°, 0=12]2, b=15)2

IL, LC=60° , b=la, C=5]3

(A) O‘n}y I ) on]}l I (E) Un}yIt‘f ar
(A) 62 RIGS, 38 (€D 634]

B) Only i CD)on)JI &I
(D) 3,49 (E) 6570

Tr‘fc:ngl@& in General

¥=T |
(Hint + 2 Possabi?'rhes>

EAES

.

6Q°

1

Parallelogram
® Find the length of the
ldnger -d?agonal

W8 W ) la O)7 CEN T

’O‘ A7 BT (e)10
. (DY (BT
QB areas 1203
=7
Q =5
(B)2J13 (E) 10 or 12

(€)2d37 or 2113

degreesi’
2 Mot drawn o scale
‘JTDTSL Hint: don't yse +he
b,

Find +he are

interms of @

£ Pythagorean Thim!
4a lea «) lea MSL (g) 252
)L (g lea @l D% E) LB

What is the valye of © in
1{% Area O’F Shqded m\ﬁior}
B e
21 of the b’ﬂ 'ﬁ‘riangle

(Hint: area,)

M I
| % =2

L distance from L To M7
(Hink: Gmilar to 45715790 angd
d=7

20-60-90 speciql %iarg}ﬁs)
25
5 vy
7 Perimeler =62

(Hnt: d isthe hypolenus of a
right triangle

ATK.L equilakral
ATKM isoscel€s

isosceles trapez aid

w7 R/ Rq



Parallelogram,
Areq =a.5

NN
' — L

MooN T .-
N is ﬁw{_g m‘;o‘pdmi— of ML
Find the perimefer of the )qu”a‘z‘]””

(A)24.6302,  (C) 2B () 33.9%
(8)28.25  (D)31596 ) ,
® Circle center O

Find © in ferms ot
x and y<

)
o @

") (360 +%+Y) (D)(]%o+x+j)° |
®) (30-%Y ey (po-ax-ay’

Q

(¢ (360 -2% =3y)

Salid @eome’h‘j

d= distance from vertex F
+s vertex G

base is SQuarc
neight is fwice the width

Volume of the box?
® ndVe W ;_7_6_4;%5‘_

®) 104%I5 sIE
¢ d b
) ¢d%ia ® 13

A cube whh edgés of Ien\g%‘h bis
divided info & @guql smaller cubes,_

what's the difference between the,
combined surtace  areq of the €
smaller cubes and the surface area
of the Oris\hq] Cube?

by 25 (@ LV @) 12k

®) ¥ ) 6b°

@™ A ri3h+ circul gp cyl:ry)ep with radlus
amelers and height © mekrs has &,
evlindrjcal  hole iameker & melers

deilled 'Hwﬁcugh the center. Enfire
rf [

F\;Pamid with sguare hase,
of ara 16 and W isosceles
trianglesy in which ¢ach base
angle 13 60°_ Volume of p\/ram;‘d?

1

Hints

60 equilateral gides

A right Circular cone and

o sphere have the same volumes,
T£ the cone has radius X and
height 2% , what s the vadius of

+the Spheref
(K) X ) s (&)sfa x

X 1l
(8 L)) T
quJf is the veolume \gener\ct-.'er:l

Ly ro—i-m"mg square ABCD aro und
the \\j'OXiS?. (Hinte Two rij)ﬁ—c'lrcuhr COY]S>

(6,3)B J
(3,0)
C
A s
C—B;OD\V

e >

D (o3 o
ker ( Rsihinﬁec'im}ar
Box Marrer gylindef )

10

| Jj?
b 7>
2

IF the box is filled with oS man
markers as possible hat percem"age

of the space is lef unused ?

(H'lh"r (ONJ:ow mqny mark@fs-'ﬁ""?
O

Voox = N Vinarker %/

G
VBOX
(wyanss  (©Ox93% (Y7074
(B 24:67%  (D)3.8%

HWT P+ Pl

QJ(O ) YO (D) WL



. More 3aorhejry practice

@y 1¢  points (0,4),(0,73),(7,73),
and (j,4) ae consecutive, veytices
ot a +mPezo3d of area 35, what
s the value of j¥

A3 (BH (7 o (B

@3) The graph of the equation x*+y>= 16
Includes  how many paInts C%;\\j) n
the coordinate plane  where X and Y
are both negative imegensy
M None (€OTwo (B )Inﬁn'ﬂe)y many
(BXOne (D) Three

(Hint 5-12713, /2513 Hriangles )

@b If e m]‘d,:)c]n‘)'s of GH, ﬁ)\qrﬂm

are. conneched, whdt's the area of
the resulting ’i‘r‘ianab?

sC5, I H(5,3.)
I3 ,
) ) LO ?)9(
weasn M@ 1)

(mao (B2 (e (33 EBXLS

Regular‘ Pem"agon, with verfices
on the Sdes of a rectangle,
What 15 The,
Per’imder‘d: the,
Peni‘agon?

- L
¥

=)

(Hint 2 $ind Hhe ang!es
use the law of Sines

) 03] (8062 (C)0,77 (D330 ® LU

Tsosceles vight ‘H‘iqrﬁb ABGB

Square ACDE
LEBC,,:E A C
)27 (B30 ©ED D"

6> (E)TS

’ .
4= 6%
: B (2J3;0)
V7

[ °
1I# Op= BP, the arcg of

’PT}anS)E; OPB 7o
CAY).7 (B) 30 (©) 33 (T &)5,0

Z %!33? y=7

Given, area,= |5
{Hints Lqw of Sinesﬁ Are 7:'1'550
()] (BYE.] (€62 (82 (8)9.6
A oiwcle of radius ¥+ is glace&
,Ob

on an incdline where point

ot on the circle 5 has coordinales €575)
Fhe circle IS rolled u _‘Hlé incline
and once fhe circle hits the ovigin,
he circle 18 then rolled horizontally
along he x-axis o the right,
what is the X ~coo rdinate, of e
point where P fouches Fhe Inding
on the x-axis for e 5 Hime,

(not includin 9 .+)>e7 Stel r'l'ing pOlfﬁ' )P

P55 -
Hintithink of a wheel of
radius 1. poinyk P onthe wheel
ces downfor the 5 fime affer

mveling (i) x5 distance .-

\ up the indine & along x-axis
A 5.6+ Y43t (B)30,63
8YI17.27 ©I27.9T .

(idog 287 |

J " Area of redangb?

A=A

T

(A) 19.50 750 ) 2275 (D 26.50@HD
HW7 P34 Fa.

<Hrn+; Fhs tanx= 533)



IF a vight circulay cyhnc}er of
: he'iSH' 100 is inscribed Ih o S)Dbere
of radius G, what's the volume of
the cylinder?
o)

O €

(A oy (B) B ()BH5 (DITRS EI3]

B
&) T4 the diasonq)s AC
A < and B intersect at
P st P in the cube,
- C  ohat's LAPR in
| D degrees?

(A 60 (B)65 ()T (B3 E) 90

Hint . %:J

@9 The greatest possible distance
between any Two porks on the surfacs
of a r}gh Circular cy)inder' s JO3,

Aveq of cincuar base 18 361,
Volume of chinder'?

(A 252 (O 3BT
(Y2947 (D) 3867

Cﬁrﬁ‘ Z \ .
ac C C
43 >
1560 CE.

(Mot (295, B3
(BYT70.3  (DYINR.O

Perimeter = I't

S-COOPdinq-le of point T §
T,

P
J
| (3,2) (7,)2)
—9}’( .
&< 7°
‘iﬁls wht could A be?
(ANg (B 2aY (0 ag (D) 35 &)

(& ) 1,0087C

7

—_—

Whal's +he volume of The
sOHCI crearted by F‘O‘f'ﬂ"?rg the NCMn(g’G
around- the 3*0)&8?

i

Y

COJO) C?/O)
M 29 (@ 978 (F) 8162t
B a5 ) 769.67

Which canno’)' occur when a line
S in the same P)ane as Q‘H‘lan&g)e?
(A Points of ling insides the ’b‘}a@}e and

on 4he perimeter of ’H?e,ﬂr}ng le dwide

the, #}ai}g?e inte. @ trangle and
a gua ri)ateral

¢8) The line infersects the ‘h*iang)e, at
exactly % Po‘m‘}‘\s

(€) The line infersecks the ‘Man&)e ot
exac'H one O)Yﬂ'

(n) The ’hr‘)cmgle, and line have,
nfinilely  man Po}nhs in common,

(&) The ling d'i\i]c]ﬁs +he i CH‘JS)B
into two isosceles Mang}esk

Whet is the s)o.pe, of S(;gmemL QRY

i Q7 10) (square)
ChY) , .
}O R N CHm-ri negative rec)pmcql)

S
A)-10 Ty o b ooy )L
A 2 (B)73 <) 3‘@)7 &)
B e agns
\ c=cener
A c

area of AABG v
(Hint: 2 sides with omg}e etween.)

(8) 2sin@tand (C)8oos© (5) gaindrand
1 ®) Isin& (D) BSOS
@ A Triang ylar Scs“d

Triangu lar faces are
tsosceles,

2

R
‘ Distance detween AL BE
B B3N 351 () IS EIeTT

ratio of surface area of Sphere A
‘o Sp}yereB 1S 7292 Ratio of volume
of Sphert A 4o Sphere B 15T

(xy27:l co)es3tl (g)s3194):d

2]

(BISfzl  (D)262243] w7 P/



